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Dihybrid Crosses
Period:

In sheep, white wool is dominant to black wool. Crimp affects the value of the wool. The more crimp, the higher the value. A dominant gene has been found in sheep that causes a lower crimp. Therefore, the highest quality, crimped wool, is caused by the recessive gene.
	Wool Color (Use B)
	Crimp (Use C)

	Genotype
	Phenotype
	Genotype
	Phenotype

	
	
	
	

	
	
	
	

	
	
	
	


1. What are the phenotypes of the following sheep:
Bbcc 






bbCC 






bbcc






BbCc 






2. What are the genotypes for the following rabbits:

Hetero. White Wool, High Crimp 

  
Black Wool, Homo. Low Crimp


Black Wool, High Crimp 



Heterozygous wool color and crimp


3. A male sheep that is homozygous for white wool and has high crimp count is crossed with a female sheep with that has black wool and is heterozygous low crimp count. Set-up and complete a Punnett square below then answer the following questions.
	
	What are the genotypes of the parents?_________________
How many out of 16 have black wool and high crimp count?________
How many out of 16 have white wool high crimp count? ______
How many out of 16 have black wool and low crimp count?_______
How many out of 16 have white wool and low crimp count?_______


